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Lesson 8 Summary 

If 𝐶 is a circle’s circumference and 𝑟 is its radius, then 𝐶 = 2𝜋𝑟. The area of a circle can be 
found by taking the product of half the circumference and the radius. 

If 𝐴 is the area of the circle, this gives the equation: 𝐴 =
1

2
(2𝜋𝑟) ⋅ 𝑟 

This equation can be rewritten as: 𝐴 = 𝜋𝑟2 

This means that if we know the radius, we can find the area. For example, if a circle has 
radius 10 cm, then the area is about (3.14) ⋅ 100 which is 314 cm2. 

If we know the diameter, we can figure out the radius, and then we can find the area. For 
example, if a circle has a diameter of 30 ft, then the radius is 15 ft, and the area is about 
(3.14) ⋅ 225 which is approximately 707 ft2. 


